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kinematic pt. | (ui,us,us) | V2 +RY | v+ RP | vP+ RY
K (©) 5,3 | —241+ 002 | —2.41+ 0.02 | —2.41+ 0.02
K ) (3,1,4) | —2.36+ 0.05 | —2.37+ 0.03 | —2.38+ 0.03

kinematic pt. | (ug,uz,ug) | V.2 + RY V2 + RY Vi? + RY
K® £ 2, 12) | 14426+ 0.003 | 12614+ 0.004 | 11.697+ 0.009
K (©) £ 2, 12) | 14439+ 0.078 | 12614+ 0.035 | 11727+ 0.145
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nwi = a fiHwP )+ C + Ry + O()
|=1
kinematic pt. | (ug, uz, uz) Réz)l Réz)z Rézg
K ©) I 7 1 143+ 0.02 | ! 143+ 0.02 | ! 143+ 0.02
K@ T 7 7) | 1 1377+ 0.047 | ! 1.393+ 0.025 | ! 1.397+ 0.033
kinematic pt. | (ug,uz,Uus) Réz)l Rg; Rgé
K®) £ 2, %F) | 5413+ 0.003 | 4.749+ 0.004 | 4.602+ 0.009
K ©) £ 2, %F) | 5427+ 0.078 | 4.749+ 0.035 | 4.633% 0.145
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